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1.	There is no need to perform all the computations before finding the values which are excluded from the set of possible solutions. The first equation excludes the values of x for which cos x is 1 or -1, i.e. all integer multiples of p. The same values are excluded in the second equation as well because of the expression in the denominator, but, in addition, tan x and cot x eliminate all the integer multiple of �EMBED Equation.3���.


Taking the common denominator in the first equation and rearranging the terms, the equation transforms into �EMBED Equation.3��� or �EMBED Equation.3���. This translates into �EMBED Equation.3��� for integer values of n.


The second equation transforms similarly by first reducing the product to 1, multiplying by the denominator and rearranging the terms. This gives �EMBED Equation.3���, which, in turn, can be transformed into �EMBED Equation.3��� that has exactly the same set of solutions as the first equation. Since none of the excluded values figure in the solution set, the equations are equivalent.





2.	In this case, for the first equation, the excluded values are all integer multiples of �EMBED Equation.3���. The second equation has no values excluded. The solution for the second equation is the set of all odd multiples of �EMBED Equation.3���. Since these are already excluded from the set of possible solutions of the first equations, they cannot be equivalent.





3.	The excluded values are all integer multiples of p and all integer multiple of �EMBED Equation.3��� for the second equation (as noted above). The solutions of the first equation are all odd multiples of �EMBED Equation.3��� which is not the same set as the solution set of the second equation (see [1] above). In fact, the set of solutions of the first equation is excluded by the second equation.





4.	The first equation excludes all integer multiples of p. The two equations can be transformed into each other, so the solution sets are identical. Since none of the solutions are excluded, they are equivalent.





5.	Transforming the first equation shows that it is an identity except for the excluded values of all integer multiples of �EMBED Equation.3���. The second equation is an identity as well, except that the excluded values are only the even multiples of �EMBED Equation.3���, so the equations do not have equivalent solution sets.





6.	Both equations are identities, except that the first equation excludes integer multiples of p, so the solution set are not equivalent.





7.	As in [6] above, both are identities, but the second excludes all integer multiples of �EMBED Equation.3���, so the solution sets are not equivalent. 
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